_
o
ol E|E
% T| T
FRAME PLATE 322
- 324 _ J|lN| N
205
aN o
(2X)M10 x 25 (2OM10x 25 S 9 o
g
Q C/ o
A x
+ ?
N — ?
W
s4 s .
[©2][e2)
W<t
AN|™
(0]
o
(2]
(S
| 02
I o x'c w
| | ~ 5SS |k
o <<
c? o
T
2lg gd |3
| 8 5 w
]
S3 s2 S22
2X) M10x25 (2X) M10x25 : e
.
V Fe |
~ O 2
= O w
| | -
g -
3 294.3 M10x25 . é
oy 0
<€ —
. [ SEE
el
3 60 60 ! |
£ 50 50 8 400
>
2 /\ /
o
[e)
: ¢ - k3 2
[0}
o ==
c
g
s
5 I
° ‘ : S| =| @
2 I Z| =
=i
£
[ ()
£ i
'_
e WS23 w
5 Alloy 316 =
E $1,82,53,54 |
2 252 =
2 82,5 z
g 0| <
g HEATING SURFACE & |o
< =
2 0 ‘ NETWEIGHT 88.0 kg 2 'g
= %E OPERATING WEIGHT kg g
£ PLATE MATERIAL  ALLOY 316 3
2 2|8l
Z PLATE GROUPING  1*49H/1*50H |5
PRESSURE VESSEL APPROVAL PED/UK
\Q\‘:FP/ AlfaNova 200-100H (3287182908)
T
www.alfalaval.com
CUSTOMER NAME / REF. NO. TOTAL LENGTH 454.3 mm
TOTAL WIDTH 324.0 mm
TOTAL HEIGHT 990.0 mm
COMPANY / REF.

CE€ S Revo J




